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10 In [(L¥/L*

to the background lightnesd *gq

100 =5(Y/Y)'—d  (Y=100)Y,=23,5=153,7, n=0,31, d=47,9)[
L*=r (YIYY)"=d (r=s(Y/Yy)"=
L¥IL* =g(Y/Yy)"-h

90,34,L* = r-d =42,3) [l
(g=r/(r-d)=2,13, h=d/(r-d)=1,13) [1|
log [(L*/L* y+h) /g]=nlog ¥/Yy) =0,31log(Y/23) [1d]
+ h) / g] = nin(10)log(Y/Y,)
(L*/L* ot h) / g ] - é‘ In(10) log (Y/Yy) — eDJlIog /23) O’Gl[éﬂ

=0,7log (Y/23) [1e]

L¥/L* gou to the background lightnesd *gq L*/L* g0,y
23 100 25OV =d (Y;=100,= 28,5=153,7,n=0,31, d=537)[1| 2 1ooL*—s(Y/Yn) -d (¥:=100Y,=52,5=153,7, n=0,31, d=75,9)[1
L*=r (Y/YQ)"=d (r=s(Yy/Yy)"=90,34,L* = r-d =36,6) [1b) L*=r (Y/Yy)"=d (r=s(Yy/Yy)"=90,34,L% = r-d =14,4) [1b|
L¥L* =a(YIY) -h  (g=r/(r-d)=2,46, h=d/(r-d)=1,46) [1 LHL* (=g(YIY)"=h  (g=r/(r-d)=6,26, h=d/(r-d)=5,26) [1
log [(L*/L* y+h)/g]=nlog {/Y,) =0,31log(Y/28) [1d] log [(L*/L* y+h) /g]=nlog {{/Y,) = 0,31log(Y/52) [1d]
1410 In [(L¥/L* , + h) / g] = nIn(10)log(Y/Y,) = 0,71og (Y/28) [1e]|| 1410 In[(L*/L* , +h)/g]=nIn(10)log(¥/Y,) =0,71log (Y/52) [1e]
L¥L%  + )/ g =& N0 log (/Yy) = .71l0g {/28) L4L%  +h) /g =& NA0)Iog (/¥y) = O0.71l0g ¥/52) 1
L+ /g) é 0,607 (LI g +h) 1] 00,5441
—n= 7301 —n=
mp, =n=0,310 =n=0,310
Oplm Em e m e 008 $=30 OplmEmmermem - 099%30
my = 0,614 P Law=300cd/ My = 0,756 L3,=1000c 1000cd/fh
' ! appllcatlon appllcatlon
1 ! ange LN L 1 range
1 0,1 1 e 0.'79(4 -Y5-18100 M a1 0,1 11071Y,,=18100 Y
- -1 0 4o 1Ys728 2 logY - -1 0 ol Yu=52 2 logY
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L¥/L* g, to the background lightnesd * gq
100-* —S(Y/Yn) d (Yy=100,Y,=12,5=163,9, n=0,31, d=36,8)[1
L*=r (Y/Yu) -d (r= S(Yu/Yn)n:96,32,L*u: r-d =59,4) [1b|
L =g(Y/Yy)"=h  (g=r/(r-d)=1,61, h=d/(r-d)=0,61) [1
log [(L*/L* y+h)/g]=nlog {{/Y,) =0,31log(Y/12) [1d]
10 In [(L*/L*  + h) / g] = nIn(10)log(Y/Y,) =0,71log (Y/12) [1e]
(L*/L* Lt h) / g ] =& In(10) log (Y/Yu) — eD,‘/llog 2) 0 668ﬂ

325 ,405
o 1:1n =n=0,310 $=30" $=30’
ml IOISIIIIIIIIIII o ,007 Low= ZOOCd/I‘% ,019 LaW:4OCd/r%
1 application L4 ' application
. i range ¢-0,623" range
1 0,1 1 10 1Y,=18100 Y 1 0,1 1 101 "Y,,=18100 Y
-2 -1 0 e 1 Yy=23 2 logY —: -1 0 1 Y,=12 2 logY
hevo0-3a hevo0-4a
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